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1O-1 Which of these three forces

is most likely to loosen the tight

bolt?



Reading Quiz for Lesson 17

Ch6:3-4

1. The figure shows four different methods lor ryplypg a torque to a nut.
Assume I r I and I F lhave the same values in each of the pictures.

List the pictures in terms of increasing lt l.

a,brcrd

d,c,b,a

a,brdrc

crdrb,a

all of the above

none of the above

Basic description of the pictures:
The vector f goes from the center of the nut to the
center of the hand. In figure a, the force pulls
straight down. In figures b & d, the force is directed
toward the right. In figure c, the force is directed
perpendicular to the wrench body.

.::',- ta




